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3. (a) Decline the pronoun I, (b) the pro.
noun thou.

4. But war's a game which, were their
subjects wise, kings would not play at. (a)
Parse war's, which, were. (b) What kind
of a sentence in form ? (c) What is the
subject ?

5. Write a synopsis of the verb go, indica.
tive mood, first person, singular number, in
ail the tenses.

6. Define (a) grammar, (b) mood, (c) tense,
(d) person, (e) number.

7. Make sentences containing the relative
pronouns as, that, vho, which and what.

8. Write a sentence having two verbs in
different moods and in different voices.

9. What is the difference between model
adverbs of manner ?

io. Copy the following, punctuating pro-
perly, and using cr.pitals where required.
Your penmanship will be graded on this:

What tubero did that naked sword of
yours mean i n the battle of pharsalia at
whose breast was its point aimed what was
then the meaning of your arms your spirit
your eyes your hands your ardor of soul
what did you desire what wish for i press the
the youth too much he seems disturbed let
me return to myself i too bore arms on the
same side.

ARITHMETIC.

r. Find the greatest number that will
divide 748 and 927, and give the remainders

13 a-d 17 respectively.

- A Simplify.
34 + 52.

3. A. and B. contract to do a job of work.
A. does 7.15 and B. 8.15 and B. receives
$25 more than A. How much did each
receive ?

4. A. and B. located at different points to
observe the beginning an eclipse of the
moon. By A.'s time the eclipse begins at
1o p.m., and by B.'s at 12 hrs. 15 m. a.m.
What is their difference of longitude, and
which is west of the other ?

5. Find the cost of 4o boards 14 ft. long,

9 in, wide and 3 in. thick, at $2.75 per C.

6. Sold flour so as to gain 2.5 as much as
it cost. What per cent. was gained ?

7. A man paid $175 for insuring. his
dwelling, at 7-8 per cent., and $:oo for in-
suring the furniture, i 1.4 per cent. If both
are destroyed by fire how muc' he entitled
to receive ?

8. A. engaged in business with a capital
of $5,ooo ; 3 mos. afterwards lie took in B.,
with a capital of $6,ooo ; and 4 mos. Jater
he took in C. with $ro,ooo. At the end ot
the year their profits were $io,ooo. What
is the share of each ?

9. How much more will it cost to enclose
with a fence. î6o acres of land at $4/7 a rod,
if in the form of a rectangle 320 rd. long and
8o rd. wide, than if in a square form ?

to. A cubical box contains 9,261 cubic
inches. How many square inches in one of
its faces ?

GENERAL HISTORY.

x. To which of the three branches of the
Caucasian race do the following belong:-
Chaldeans, Phœnicians, English, Persians,
Assyrians.

2. W¾at were the Punic Wars ? (b)
Name two great leaders in those wars.

3. By what armies was the Battle of
Marathon fought? Which army was vic-
torious ?

4. Name the three great tragic poets of
Greece.

5. What four conquests of Éngland have
been made?

6. (a) What were the Wars of the Roses ?
(b) Why so called ? What battle decided
the contest ?

7. What was the cause çf the Crimean
War? (b) How did it result ?

8. What caused the War of the Austrian
Succession ? (b) What was the result ?

9. What were the chief causes of the
French Revolution of 1789 ?

io. By wnat armies was the battle of
Waterloo fought? Who were the 'com-
manders ? Which side was victorious ?


